NAME DATE PERIOD
Reteach
Multiply Integers
* The product of two integers with different signs is negative.
* The product of two integers with the same sign is positive.
Multiply.
2x(-1)=-2 The integers have different signs. The product is negative.
—4x3
—4 x 3 =12 The integers have different signs. The product is negative.
3x5
3axb=15 The integers have the same sign. The product is positive.
-2 x (—4)
—2%x(—4)=28 The integers have the same sign. The product is positive.
k|
% Multiply.
g
= 1. 3 x (-3} 2. —5 x (—2) 3. -8 x (-1
g
=
&
% 4, —2x 8 5. 4x(-3) 6, -3 x(-2)
g 7.5 x (—4) 8. —10 x (—4) 9. -3x6
5
©
£
g 10. -3 x (—10) 11. 6 x (—4) 12, -7 x (=7)
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"NAME

Reteach

Divide Integers

DATE PERIOD

* The quotient of two integers with different signs is negative.
* The guotient of two integers with the same sign is positive.

Use counters to find —6 = 2.
There are 2 groups
of 3 negative counters
each.

- Find 10 + (-5).

Since —5 x (—2) = 10, it follows that 10 + (—5) = —2.

"Find —12 = (—3).
Since —3 x 4 = —12, it follows that —12 = (—-3) = 4.

Divide.

1. 4 +{-2) 2. -9+(-3) 3. -8+2

4. —21+7 5. 30 - (—5) 6. —24 =4

7. -36 -6 8. —45 + (-5) 9 -81+9
10. -3 +(-3) 11. 70 + (=T) 12, —64 + (-8)

13. ALGEBRA Find the valueofa =~ b ifa = —18 and b = 6.

14. ALGEBRA For what value of pisp + 5 = —7 true?
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